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P3-8

Bfe] [ EmAK @) | ke &4/ | ees (/R [ X SEAF

07:35 273 150. 0 2.583 | ZE| TBiEe07:35 Bz (KRAEEEE)
08:35 273 150. 0 2.583 1% @08:35 Hz (ARFHERE)
09:35 273 150. 0 2.583 1% @09:35 Bz (REHERE)
10:35 273 150. 0 2.583 % 010:35 B (REAERE)
11:35 273 150. 0 2.583 %0e11:35 B3 (GREAERES)
12:35 273 150. 0 2.583 % 012:35 Bz (REEREE)
13:35 273 150. 0 2.583 % 013:35 Bz (AREHEREE)
231 1911.0 (7OR) 1050. 0 EWOHKEC: 1720, PH: 6.5
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m=430, FV0=0 m=485, FV0=0 m=565, FV0=0
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44 4 46
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P3-8

BrE) | GEBAKE) | ERE(EH/R) | EREE (F/R) [ XK R

05:50 273 150.0 2.583 FA| {Ri%@05:50 Bzl (kAMEEE)
06:50 273 150.0 2.583 |Z=| {Ri%e06:50 B (KREEZEHE)
07:50 273 150.0 2.583 |Z=| {Ri&e07:50 Bz (REAEZEHE)
08:50 273 150. 0 2.583 (&=| {Ri%e08:50 Bz (KRAEZE)
09:50 273 150.0 2.583 (£ =| {Ri%@09:50 Bz (KRAERSE)
10:45 273 150. 0 2.583 FA| 1B2i%@10:45 Bzh (kAIEREE)
12:50 273 150.0 2.583 FH| 1Ri&@12:50 B (RS
13:40 273 150.0 2.583 FA| 1BRi%@13:40 B3h (KRAHERSE)
14:25 273 150. 0 2.583 FR| 1BRi%@14:25 B3h (kBEREE)
15:10 273 150.0 2.583 FA| 1BRi%@15:10 B3h (RAB{ERSE)
21t 2730.0 (100%) 1500. 0 EIFHKEC: 1720, PH: 6.5

MEARHLER S STAMERH (173.0 : 142.0), WaEHTF—EALRXTHE
ZRIASEPRERE142.0 ml.
unusual large postFgEt from yesterday (463), set to 450.0 ml.



50— — T T T
VI, VQ,FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 1396 | 1500
1100 o, 09 -
100 - L 1000 ©
80 E
50 - 500 &
00 Warning: lcol [FVI',| "FVO’'] missing
i -0
58? VI —— ME #2000 _
= FRV — 1| T
LR e e U B G b b Tl bW A Nt e P P e st 150 €
- =
. L 100 —
:' 404 E
I et e et 50 Z
[T
133 1 0
U
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 | OPtEC0=3000.0, setECB=1720 N
0.6 -
0.4
0.2
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.5 N
0.6 -
0.4
0.2
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 |
6004 Bylnit D80 02:00: ET=1754 Fg=2100.0 Ro=426.0 43000
< 400 - I - 2000 &
£ ! S
S ! =
£ 200 4 i L 1000 'T
— | §
L H ’ . o
0 P N P 0
0 1 2 ] 3| 4 | 5 6 7 8 1 9 [ 10 [ 11 [ 12 [ 13 [ 14 ] 15 [ 16 [ 17 [ 18 [ 19 [ 20 | 21 | 22 [ 23 | 4o
600 TTH [ WA | W | W | P | P8 | P8 | T3 | B3 [/Im | /Avm | o | | e | es | e | Nm /N e | e | | B2 | 2% | B -
s 0. | ET— _ _ ! 5
E§400— ByEt @D76 19:24: ET=1334 Fg=1188. 0 Ro=nan : 2000 =
£ : _o—o—o E
£ 200 4 i —eo—o | .
L —e——o—=o : 3
0 oo PR G a T 0
0 1 2 ] 3| 4 ] 5 6 7 8 | 9 [ 10 | 11 [ 12 [ 13 [ 141516 [ 17 [ 18 [ 19 [ 20 | 21 [ 22 [ 23 | 4o
{Dwo_m [A A FA 3] EREARERSEZAEZS N FA FA [A A FA BH |\W|Z=|5=| B 5 RERS i~
s ! ah. FT— _ _ 5
E§400— ByWoFv pDSO 02:00: ET=1108 Fg=1500.0 Ro=197.0 5000 =
£ E
£ 200 4 - 1000
o 3
1.0 0
0.8 -
0.6 -
0.4
0.2
0.0
—_— 4
1000 - ® | obs
PPFD_obs

P3-8_0, Day=76 (2025-06-13)

RH

RH_obs-rning: col ["RHo_obs'] is missing
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m=480, FV0=0 m=530, FV0=0 m=600, FV0=0
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665 670 675 785 790 795 835 840 845 880 885 890
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—o— ME —— MW 431 —e— MW
48 44 -
39 -
42 -
47 49
38 -
46 - 41 -
40 -
45 - 371 40 -
38 -
44 - 36 A 39 -
43 - 36 1 —0— MW
T T T T T T T T 35 T T T 38 - T T T
920 925 930 500 600 700 800 900 480 485 490 530 535 540
m=600,m FV0=0 m=665,m FV0=0 m=785,m FV0=0 m=835,m FV0=0
44 —o— MW —o— MW —o— MW —o— MW
44 - 44 44 -
43 -
43 - 43 - 43 -
42 -
42 - 42 - 42 -
1 41 - 41 - 41
T T T T T T T T T 40 T T T
600 605 610 665 670 675 785 790 795 835 840 845



m=880, FV0=0

—— MW
44 -
43 -
42 -
41 1
40 -
T T T
880 885 890

m=920, FV0=0
45 7 —— MW
44 -
43 4
42 -
T T T
920 925 930




